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TEST CODE :
PART-A : MATHEMATICS | CLASS - VII |

2003 ZONE - II
1. Next three consecutive numbers in the pattern 11, 1. @8 &aRen 11, 8, 5, 2, --, -, -- HHTI 3NTell FE&ITY
8,5 2, -, -, --are: B
(1) 0,-3, -6 (2)-1,-5,-8 (1) 0,-3,-6 (2)-1,-5,-8
(3) -2, -5, -8 (@) -1, -4, =7 (3) -2, -5, -8 (@) -1, -4, =7

2. On the following number line value "Zero" is shown 2. fr=faRad e x@ 4 fod fawg @1 7 g i T e
by the point :

XY Z W XY Z W
[ 1 1 | | | [ 1 | | | |
ST ST
-15 10 -15 10
(1) X (2)Y (1) X (2)Y
) Z (4 W B Z (4 W
3. [(-8) x (-3)] x (-4) is not equal to : 3. [(-8) x (-3)] x (-4) IR AL & :
(1) (8) x [(=3) x (=4)] (1) 8) x [(=3) x (=4)]
(2) [8) x ()] * (=3) (2) [(-8) x (4] * (=3)
3) [(=3) * (=8)] * (+4) (3) [(=3) x (=8)] * (%)
(4) 8) x (-3) = (-8) * (-4) (4) 8) * (-3) = (-8) x (-4)
4.  Which of the following value is different value from 4. % & ®I991 719 377 A A AT & ?
the others :
(1) 20 + (= 25) (2) (37) - (- 32) (1) 20 + (= 25) (2) (37) - (- 32)
B) =5)x 1) (4) (45) + (= 9) B) =5 x=1) (4) (45) + (= 9)
5. The product of 3 and 4% is : 5. 33R 4% BT OGS ST :
1) 172 @2 1172 @2
@) 13+ ) 132 ) 13+ ) 132

Space for rough work

1
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1 9 .
S—+=isequalto:

6 2
31 1
(1) & @) 57
1 31
() 95 (4) 57

2
On dividing gby 7 the result is :

4 35
L5 @
14 35
@) 5 ks

1
One packet of biscuits requires 2= cups of flour 8.

2

2
and 15 cups of sugar. Estimated total quantity of

both ingredients used in 10 such packets of
biscuits will be :

(1) less than 30 cups

(2) between 30 cups and 40 cups

(3) between 40 cups and S0 cups

(4) above 50 cups

The median of the data :

3,4,5,6,7,3,41is:

(1) 5 2) 3

(3) 4 “4) 6

TEST CODE
2003
1.9 .
5672 WA T :
31 1
(1) & (2) 57
1 31
(3) 95 (4) 57
7 H %?ﬂﬂm‘q‘#wwﬁm:
14 35
(1) 5 @) -
14 35
3) 5 @ 5

fawge &1 @ Uace 4 2% PY IATeT 3R lgao‘qéﬁ:ﬁaﬂ

3Maeedm 2 | 10 Y fawae 99 @& forq ot e #ra
# g1 ugrt &) srawgdar 8

(1) 30 &Y ¥ BH

(2) 30 FU 3R 40 HY & AL

(3) 40 FU 3R 50 HY & AL

(4) 50 ®Y A 3NfAH

3ifpe 3, 4, 5, 6, 7, 3, 4 &1 HILD B :

(1) 5 ) 3
(3) 4 4) 6

Space for rough work

2
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TEST CODE CLASS - VII

2003 ZONE - I

10. The difference between the highest and the lowest 10. GTUTEh_eﬁ # 3frpdy 914 IR YTH AT P AR P HBA B -
observation in a data is its :
(1) frequency (2) width (1) IRERAT PEISE
(3) range (4) mode (3) W™ (4) 9gctd

11. Some integers are marked on a board. What is the 11. dIS R §B YUlid Yafid 8 | §9 YUIid] &1 URTE &1 ?
range of these integers ?

0 15 0 15
-11 -17 -11 -17
+20 +20
6 -4 6 -4
(1) 31 (2) 37 (1) 31 (2) 37
(3) 20 (4) 3 (3) 20 4) 3
12. Mean of first six prime number is 12. T ©: 3HTRI 13N T A1e
(1) 7.83 (2) 5.83 (1) 7.83 (2) 5.83
(3) 6.83 (4) 4.83 (3) 6.83 (4) 4.83

13. The equation which cannot be solved in integers 13. = # ¥ WWWEBTWTTTEF SRS
is :

(1) 5y -3 =-18 (2)3x-9=0 (1) 5y -3 =-18 (2)3x-9=0

(3)3z+8=3+z 4)9y +8=4y-7 (3)3z+8=3+z2 4)9y +8=4y-7
14. If 43 m = 0. 086, then the value of m is : 14. I 43 m = 0. 086 &, T m &I A BT :

(1) 0.002 (2) 0.02 (3) 0.2 4) 2 (1) 0.002 (2) 0.02 (3) 0.2 4) 2
15. If (§j=3, then the value of 3x + 2 is : 15. Ifa (%);3 2, A 3x + 2 BITHMF B :

13 13

(1) 20 (2) 11 (3) > 4) 8 (1) 20 (2) 11 (3) > 4) 8
16. Shifing one term from one side of an equation to 16. Wﬂwﬁwq—q’wwwﬁqaé TR U HRAT AT

another side with a change of sign is knows as : T

(1) commutativity (2) transportation (1) = fafrrg (2) UETT=RYl

(3) distributivity (4) associativity (3) faa=or (4) ArETd

Space for rough work

3

y.
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17. In figure the value of y is

NATIONAL OLYMPIAD

2y

(1) 30°
(3) 20°

(2) 15°
(4) 22.5°

18. In figure a and b are : 18.

J
/

(1) Alternate exterior angles

(2) Corresponding angles
(3) Alternate interior angles
(4) Vertically opposite angles

19. The angle x and 90° —x are : 19.

(1) supplementary
(2) complemenatry
(3) vertically opposite
(4) linear paired angle

17.

TEST CODE
2003

T%Blﬁy @7 HHF BT

2y

(1) 30°
(3) 20°
e dadabd:

(2) 15°
(4) 22.5°

4 >
b »

(1) STEY TR DI

(2) | BIvT

(3) 3T<T: THTR BIVT

(4) <ifrge oror

x 3R 90° —x P17 :

(1) 9%

(2) |@

(3) wifge
(4) XRa® = BT

Space for rough work

4
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TEST CODE CLASS - VII

2003 ZONE - II
20. If AB || CD, ZAPQ = 50%nd ZPRD = 130°, then 20. IfXAB || CD, ZAPQ =503k £PRD = 130° & LQPR
Z/QPR is : BT
A P B A P B
50° 50°
0 0
c 130° c 130°
Q R Q R
(1) 130° (2) 50° (1) 130° (2) 50°
(3) 80° (4) 30° (3) 80° (4) 30°
21. Accroding to figure, PA | |[BC | | DT and AB | | DC. 21. fRETJERPA | |[BC || DT3RAB || DC T a3iR b &l
Then, the values of a and b are respectively : LIEASINIGAE
P A D P A D
50, b T 50, b T
a a
B C B C
(1) 60°, 120° (2) 50°, 130° (1) 60°, 120° (2) 50°, 130°
(3) 70°, 110° (4) 80°, 100° (3) 70°, 110° (4) 80°, 100°

. . 3 4 !
22. Which of following rational number does not lie 22. =% J &1 aRay dw 5 3R 5 @ A LT B

b é di
etweensan5
L) o 2 ol o, 2
(1) 39 @ 3 (1) 39 @) 3
5 L o 16 . o 16
()10 ()30 ()10 ()30

Space for rough work

5

y.
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4 Tecno'23 2003
23. 2 =1.4 the value of /o8 is: 23. J2=1.4 21l Jog TR:
(1) 8.9 (2) 9.8 (1) 8.9 (2) 9.8
1 1
(3) 0.98 ST (3) 0.98 @ 58

24. Numerator of rational number is 10 less than 24. IRAT AT BT IA TP X W 10 HHQ, IR AT H 12 BT

denomina‘?or when numenator is increased by‘12 qﬁg{ IR 5@ B A T & A u & S s a
& denominator decreased by 5 than fraction 4

5 gRAY =T 1 B
become e Find rational number :
()29 ()35 ()29 ()35
5 23 2 21 4 23 2 21
()33 ()31 ()33 ()31
25. Which one is the largest among fraction : 25. frA =i d qea aeT a2

5 7 13 17 5 7 13 17

1131207125160 1137120°125°160
, 13 o T , 13 o T
()145 ()120 ()145 ()120
3 4 17 3 5 4 17
()113 ()160 ()113 ()160

Space for rough work

6

y.
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TEST CODE

CLASS - VII
2003 PART-B : MENTAL ABILITY TEST TN

26. In a certain code, the wourd DEAL is coded as 26.

4-5-1-12. Following the same rule of coding, what
should be the code for the word LADY ?
(1)12-4-1-25 (2)12-1-4-25
(3)10-1-4-23 4)12-1-4-22

27. If the letters in PRABA are coded as 27595 and 27.

THILAK are coded as 368451, How can BHARATI

be coded ?
(1) 9567568 (2) 9675538
(3) 9657538 (4) 9567538

28. If + means +, -means +, xmeans — and +means x, 28.

(36x4)-8x4

then 4 e o 161
(1) 0 (2) 8
(3) 12 4) 16

29. If P deontes +, Q denots —, R denotes x and S 29.
deonotes + , which of the following statement is
correct ?

(1) 36R4S8Q7P4=10
2) 16 R12P49S7Q9 =200
3)32S8R9=160Q 12R 12
4 8R8P8S8Q8=57

Ife f<dy 991§ DEAL &1 4-5 —1 —12 I H8T1 WY, aI LADY

BT ST YT | T BBl SITI?
(1)12-4-1-25 (2) 12-1-4-25
(3)10-1-4-23 4)12-1-4-22

gfe foodft 9areT § PRABA @1 27595 311X THILAK &1
368451 @gl WY dl BHARATI &1 ST 9191 § @7 forar
SIRAT?

(1) 9567568 (2) 9675538

(3) 9657538 (4) 9567538

Ifg + Add +, — AdAd =, x HAAI — 3R + AqAd x, al
(36x4)-8x4

4+8x2+16+1

(1) 0 (2) 8

(3) 12 4) 16

IRFTP P+, QP —, RPI x 3R S Bl + Bl AT &, A
ferferRad v o 19 e 22

() 36R4S8Q7P4=10
2) 16 R12P49S7 Q9 =200
3)32S8R9=160Q 12 R 12
(4 8R8P8S8Q8=57

Space for rough work

7
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31.

32.

33.
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A series is given with one term missing. Choose
the correct alternative that will continue the same
pattern and replace the question mark in the given

series.

B,D,F,ILL,P,?

(1) R 2) s
(3) T 4 U

Pointing to an old man, Kunal said, "His son is my
son's uncle." How is the old man related to Kunal
?

(1) Brother (2) Uncle

(3) Father (4) Grandfather

Looking at a portrait of man, Harsh said, "His
mother is the wife of my father's son. Brothers and
sister I have none". At whose portait was Harsh
looking ?

(1) His son
(3) His uncle

Find the correct mirror image of the given figure,

(2) His cousin
(4) His nephew

when mirror is placed on right side of the figure.
PRAYER

(agaayada
Baaqaada

RaavyAadadg
(4) ag AYa g

30.

31.

32.

33.

TEST CODE
2003
T Gl & TE ¥ R v U o 2 | W ey g o
T U @l I ¥ 3R &) TS swan | g fug &
yforenfid o |

B,D,F,IL,P,?

(1) R 2) s

(3) T @)U

U g ATGH! DI MR FIRT B Y BN - Del, "D Il
AR IS BT ATA1E | ST 3MEH G | D Fafdd 22

(1) |rg (2) =

(3) foran (4) a1

A9 & f2rd @1 @ gy, 84 1 del, "SHa! 41 AR fudr & A
B Tt 2 | 91E H 3R g8 AR DI e ' | gY fhad 2t &l
@ g AqT?

(1) SH®T A (2) SHBT TR S

(3) ST =T (4) BT AT /AT

&) TS JATpfar T T v I ST FIRTY, ST gdor &
T TG & T IR B |

PRAYER

2 adFYAA9d
(4) 99 AYH I

)9gayYdad
B)aaqAadad

Space for rough work

8
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TEST CODE
2003

34. Find the correct mirror image of the given figure, 34.

35.

36.

when mirror is placed on right side of the figure.
12698

(1) TC698
(3) 8008I

(2) 1698
(4) 12968

Johnson left for his office in his car. He drove 15 35.

km towards north and then 10 km towards west.
He then turned to the south and covered Skm.
Further, turned to the east and moved 8km. Finally,
he turned right and drove 10km. How far and in
which direction is he from his starting point ?

(1) 2 km West (2) 5 km West

(3) 3 km North (4) 6 km South

From his house, Lokesh went 15 km to the
North.The he turned West and covered 10 km.
Then, he turned south and covered 5 km. Finally,
turining to East, he covered 10 km. In which
direction is he from his house ?

(1) East (2) West

(3) North (4) South

36.

CLASS - VII

ZONE - II
&) TS AP D1 FE g g S ARG, Srafes gdor §
TS MG & ST SR B |

12698

(1) 12698 (2) 1S698

(3) 8edQI (4) 12968

SAITHT 30 SR H 39+ F1afed & foy a1 gy | a8 15
e ITR @1 3R 311R b 10 foreil uf¥es &1 3R =rer | fhr a8
Efaror 1 3R g1 31R 5 el 31 g0 73 1 | 590 e, gd
B 3R g1 3R 8 el =rett | i H, @8 a1¢ g1 3R 10fHH
TS | I8 YU IR foig & el g 3iR for famm 4 g2

(1) 2 km uf¥=™ (2) 5 km ufe=H|

(3) 3 km IR (4) 6 km gfayor
ATHI N TR 15 fHl IR DY 1R I B | a8 ufas o
3R gl © 3R 10 ol Fetan 2 | v, a8 aferor o1 iR g1
3R 5 el &1 0 T @1 | 37T H, Y 1 3R EHR, IF 10
el @1 g3 T DT | 98 31U TR | fopd e H &2

(1) gd

(3) SR

(2) uf¥zH
(4) sfeyor

Space for rough work

9
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37. The door of aditya's house faces the East. From 37. 3G & &R &1 SIATSH Yd 1 1R 3— 30 8 & YIS Bl 3R

the back side of his house, he walks straight 50
metres, then turns to the right and walks 50 metres
again. Finally, he turns towards left and stops after
walking 25 metres. Now, aditya is in which
direction from the starting point?

(1) South-east (2) North-east

(3) South-west (4) North-west

Instructions (Que. 38 to Que. 39)

38.

39.

40.

After colouring a cube of 4x4x4 cm. side with
yellow. After that it cut into 1cm small side cubes.
Then answer the following question?

How many total number of small cubes are there?
(1) 16 (2) 64

(3) 8 4) 27

How many small cubes we have which atleast are
two surface painted?

(1) 64 (2) 36

(3) 32 “4)1

Choose a figure which would most closely resemble
the unfolded form of Figure (Z).

06 &

Z

|, 98 WY 50 HIeX 7erd 8, fhr qT8 3R Joa 8 3R fiR 4
50 #ex FeAdl &— 3id ¥, g8 d18 MR qoal 8 3fR 25 Ay
T @ d1& TP S o— 374, INfacd URfe fig & fpa faem
qg?

(1) <feror-gd
(3) aferor-ufdes

(2) STR-gd
(4) STR-uf¥=H

fader (9 38 | U 39)

38.

39.

40.

4x4x4 T B G Bl Yol T H I & 1€ | 39D d1€ Th
I B BT g9 § B o | fox frr=falRad med &1 Swv 2

BIC 1 B gl e fha 22

(1) 16 (2) 64

3) 8 (4) 27

AR U fohel BIC 991 € Sl $H | ®H &1 Jalel WX 1 8Y 87

(1) 64 2) 36

(3) 32 4) 1

TE O PRI I ST AR (Z) B Gol ®U | A 3fep
RreTe—ogere) 8 |

00 e

Z

(1) (2) 3) (4) (1) (2) 3) (4)

Space for rough work

10
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41.

42.

43.

44,

45.

All oscillatory motions are :

PART-C : PHYSICS

CLASS - VII

ZONE - 11

41. 99 e I B

(1) rotatory motions (1) goi= 1fy
(2) rectilinear motions (2) & Ty
(3) circular motions (3) aga T
(4) periodic motions (4) e wTf
The symbols to represent the speed of an object is 42. I8 Uclid Sil U a% @1 ATel B TSI HRAT 2 :
(1) 5m/s (1) 5m/s
(2) 5 mp (2) 5 mp
(3) 5m/s™! (3) 5m/s"
(4) 5 s/m (4) 5s/m
Convert 2 km/h into m/s : 43. 72 km/h &I m/s 4 98l —
(1) 72 m/s (1) 72 m/s
(2) 20 m/s (2) 20 m/s
(3) 36 m/s (3) 36 m/s
(4) 12 m/s (4) 12 m/s
If we denote speed by S, distance by D and time 44. IR AA D S, Al @I D T 99T &1 T g1 Y&fid fan
by T, then correct relation between these quantities ST &, T 1 NIRRT &7 el FH e B
is :
(1)S=D/T (1) S=D/T
(2) T=S/D (2)T=S/D
(3)S=l+D (3)S=l+D
T T
T T
4 S=5 @ S=5
Which of the following substance is conductor of 45. fFfaRad # & S+ &1 yaTel fad &1 =er® 2 :
electricity :
(1) rubber (1) XN
(2) paper (2) DTSt
(3) iron nails (3) g B BIA
(4) plastic (4) wnfe®

Space for rough work
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46.

47.

48.

49.

50.
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Bulbs, wires, cells and switches are known as the
of a circuit.

(1) element

(2) switch

(3) filament

(4) None of these

The compact fluorescent electric lamp has :

(1) Nichrome filament

(2) Chromium filament

(3) Tungsten filament

(4) No filament

Which mark is neccessary on electricity appliances

(1) Agmark

(2) ISI mark

(3) FICCI mark

(4) KSK mark

There is an eastward wind. In which direction
would it be easier to fly a kite ?

(1) East

(2) West

(3) North

(4) South

The instrument that measures the wind speed in
a cyclone is :

(1) Anemometer

(2) Barometer

(3) Thermometer

(4) Ammeter

46.

47.

49.

TEST CODE
2003

Iod, TR, el 3R ol B gRu & &Y H ST A1 2

(1) I

(2) @it

(3) fharre

(4) 379 ¥ DIg TE

PIRITE FARTH Solfded oI H &
(1) g R

(2) wifH <

(3) S fheA=

(4) B1E e =78

. fo=1a USRIl W BIFET 71D ATTITD © -

(1) TS

(2) ISI AT®

(3) FICCI T

(4) KSK A1

9d 1 MR &84T Tl T ¢ | fora faem 3 o1 S S g

?
(1) o
(2) uf¥=a
(3) IR
(4) <feyor

. ThaTd | a1 B i AU Tl SUDIYT &

(1) TR
(2) SRrHreR
(3) eAtHeR
(4) 3R

Space for rough work
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51. Wool fiber cannot be obtained from which of the S51.
following .
(1) Goat (2) Llama
(3) Alpaca (4) Moth

52.

53.

54.

55.

56.

Yak wool is common in

(1) India (2) America

(3) Tibet (4) China
Removal of wood from a sheep is known as
(1) Rearing (2) Shearing

(3) Sorting (4) Scouring

Silk fiber is made up of

(1) Protein (2) Polyethene
(3) cellulose (4) Jute
Which of the followng slaked lime is ?
(1) Calcium hydroxide

(2) Calcium oxide

(3) Magnesium oxide

(4) Magnesium hydroxide

Which of the following is not a natural indicator ? 56.

(1) Chinarose flower
(2) Turmeric

(3) Phenolphthalein
(4) Litmus paper

PART-D : CHEMISTRY

52.

53.

54.

55.

CLASS - VII

ZONE - 11

Sl N frfalRad # 9 fords ur =81 fovan o1 Haar @

(1) IB0 (2) o
(3) 3reHTehT (4) fore
AT ATH DY & &

(1) ¥Rd (2) AR
(3) fasa (4) 9=
TE H & MBI deaAar g |

(1) "ret (2) 911 Brel
(3) BeTE (4) &
el X BT 1 BT &

(1) 9ré= (2) dreiref=
(3) HefeirsT (4) S
feraforRaa 5 @I=ar gen gan g @ ?

(1) dfcerad erggiaaEs

(2) Dfcer™ sifaarss

(3) FIRRM sifearss

(4) FTNRrM TSRS

frferRad & & P11 v Wgpfrd gad el € 2
(1) To&a & Het

(2) Bl

(3) foprterafom

(4) fereaa gz

Space for rough work
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58.

59.

60.
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String of an ant contains
(1) Vinegar

(2) Common salt

(3) Formic acid

(4) Milk of magnesia

Which one of the following is not a chemical change. 58.

(1) Digestion of food
(2) Burning of Coal
(3) Melting of wax
(4) Photosynthesis

Which of the following is not a required condition 59.

for resting to occur?

(1) Presence of oxygen

(2) Presence of CO,

(3) Pressure of water vapour

(4) Presence of water

Fill in the blanks

(a) Large crystals of pure substance are obtained
by .

(b) The brown layer deposite on an iron nail dipped

in copper sulphate solution is due to

(c) A brown layer formed when an iron article is
left exposed in an open area is called

(1) Rust, Copper metal, Crystallisation

(2) Crystallisation, Rust, Copper metal

(3) Crystallisation, Copper metal, Rust

(4) Copper metal, Rust, Crystallisation

57.

60.
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61.

62.

63.

64.

65.

66.

Which part of the plant is called its food factory ? 61.

(1) Fruits
(2) Seeds
(3) Leaves
(4) Flowers

Derive nutrition from dead and decaying 62.

matter :

(1) Cuscuta

(2) Fungi

(3) Virus

(4) Pitcher plant

Pitcher plant traps insects because, it : 63.

(1) Is a saprotroph

(2) Grows in soil which lack in nitrogen

(3) Does not have chlorophyll

(4) Have a digestive system like human beings

How many premolars teeth found in mouth ? 64.

(1) 2
(2) 4
(3) 6
(4) 8

Humans are categorized as : 65.

(1) Parasites

(2) Autotrophs
(3) Carnivores
(4) Omnivores

The false feet of amoeba are used for : 66.

(1) Movement only

(2) Capture of food only

(3) Capture of food and movement both
(4) Exchange of gases only

CLASS - VII
PART-E : BIOLOGY ZONE - II
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The finger like outgrowth of human intestine helps 67.

to:

(1) Digests the fatty substances
(2) Make the food soluble

(3) Absorption of digested food

(4) Absorption of undigested food
Weather changes :

(1) Week after week

(2) Day to day

(3) Within a short period

(4) In any of the above time period

Which of the following statement is wrong for 69.

penguins ?

(1) They huddle together

(2) They cannot swim

(3) They have webbed feet

(4) They have streamlined body

Which option correctly describes tropical region :
(1) Hot and humid

(2) Cold and humid

(3) Moderate temperature and heavy rainfall

(4) Hot and dry

68.

70.
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Class - 7th

Paper Code : 2003

PART-A: PART-B : PART-C: PART-D: PART-E :
MATHEMATICS MAT PHYSICS CHEMISTRY BIOLOGY
Q.No. Ans Q.No. Ans Q.No. Ans Q.No. Ans Q.No. Ans
1 4 26 2 41 4 51 4 61 3
2 3 27 3 42 1 52 3 62 2
3 4 28 1 43 B 53 2 63 2
4 3 29 4 44 1 54 1 64 4
5 3 30 3 45 3 55 1 65 4
6 4 31 3 46 1 56 3 66 3
7 4 32 1 47 4 57 3 67 3
8 3 33 2 48 2 58 3 68 4
9 3 34 3 49 1 59 2 69 2
10 3 35 1 50 1 60 3 70 1
11 2 36 3
12 3 37 4
13 3 38 2
14 1 39 3
15 1 40 4
16 2
17 3
18 3
19 2
20 3
21 2
22 4
23 2
24 3
4

N
(6}
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